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X, r, H: X-> X/n
↑

space AEX/ is open iff π"(A) is opens in X

***
f is continus if I is its

|h-z If you want to build
a function

on XIinsted you
build a functions[on X thatis caratant on the fibers-moriesby satuntedsets i+ (A), "I descends tothe quotient"



E.g. 1Sr (xinile(x, y2) ↑R(n w/R
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MR(x,y) =π((x,yz) =x
↳
iRis constanton thetiles

IR-12 i(x) =(y0)

x Is continuos? Yes, by composition,
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g(f(x)) =πp(i(x)) =M,(x,0) =x
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P(g(H(x,y))) =+ (i(πR(x,y)7)
=H(i(x))
=H(x,0)
=π(x,y)

=> if (E1Y/Menf(g(z) =z. by subjectory oft
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i(x) =x



Is i continus? Yep. Subspace top.

& is endently continus. (n0 zero dir.)
Is a caston fibers ofit?
x

g(xx) = =1X =1 =5(x)
x20 1xx() (x) ((x1)

Soy is cost on the files ofit and

descends toa continue ma g:/R3/n5 5",



Claim:f and gone increases.

3,

S.123* IR

xby1(**)--> 52
I

g(f(x)) =g(i(x) =g(x) =y1) =x
(xt5?!)
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Ata
f(g(z)) =z

↳ (3,*/w

f(g(H(X))) =(i(g(x))) =π(i(ix))
= π(#1)
=π(x)
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=xy X +0

fibers are "lines" than origin

1/P" =(n+*/n

* ↳ ral projective space

g"xn - x

IRIP"wS"/



go (Ru+,* 1+),* guR

T2 ↓ ↓T ↑I ↓2
f RIP --> SY/r

susu ->
Rph

I

#(ii) =π.(x)
π,(i(x))Eπ,(i(- x)) p(x)=(l)

↓ p is const on fibers of it,

Mi(x) E+,(-x) so hop is also,

π,((x) =π,(x) f4F0

Exercise:f =5)


